Plant Nutrition Lab Assignment 
Due date: March 10
1. Summarize the qualitative data from the experiment (i.e., written descriptions of differences observed in shoots and roots). Consult your class notes to help you use the proper terminology for your observations. 
When looking at the control group (blue) the plants were on average bright green with large leaves and no wilt. Also, there were no dead spots with the exception of maybe one or two and the stem and shoots were tall and thick. The control group (blue) also had the best structured root system of all the plants. When looking at the plants without calcium (red) all plants were killed in a very short amount of time. When looking at the plants without phosphorous (pink) the plants were tall, bright green, and had large leaves. The roots however were very long but without a lot of branching. When looking at the plants without potassium (green) the plants were tall, bright green, few dead spots, slightly wilted leaves, slightly shorter roots when compared to the control group and less branching. When looking at the plants without nitrogen (orange) the plants were bright green the plants on average were smaller in height with smaller leaves. The roots were very long, and the branching was going off at about 90-degree angle. When looking at the plants without magnesium (yellow) the plants were dark green, with most of the leaves wilting and dying. Along with slightly less branching on long roots. 
2. Summarize the quantitative data from the experiment, using the combined class data set (written as an interpretation in your own words). You should also construct at least one figure that is based on your quantitative data. Within your written interpretation, be sure to use the correct format to refer the reader to the figure(s). Also, be sure to include an informative figure legend.
Based on the quantitative data from the experiment we can conclude the following. That the overall for Leaf area (mm2) in order from highest average to lowest average was Control, No Potassium, No Phosphorus, No Magnesium, No Nitrogen, and No Calcium (Figure 1). That the overall for Shoot Weight (g) in order from highest average to lowest average was Control, No Potassium, No Phosphorus, No Magnesium, No Nitrogen, and No Calcium (Figure 2). That the overall for Root Weight (g) in order from highest average to lowest average was Control, No Nitrogen, No Potassium, No Phosphorus, No Magnesium, and No Calcium (Figure 3). That the overall for Total Plant Weight (g) in order from highest average to lowest average was Control, No Potassium, No Phosphorus, No Magnesium, No Nitrogen, and No Calcium (Figure 4).
3. State your original hypothesis/hypotheses for the experiment and discuss whether or not the results support your hypothesis.
My original hypothesis was that without out all of the required nutrients (if at least one nutrient is taken away) then the plants will either die completely, show necrosis, or have stunted growth. My original hypothesis was supported after the experiment was completed as all plants missing a nutrient either died, had wilted or smaller leaves, or had shorter root systems than the control group. 
4. Provide a written interpretation of results, including a consideration of information in your class notes and textbook. You should consider possible reasons for your results. For example, you should use information from your notes or textbook to explain the normal function of some of the missing nutrients and connect this to the results that you observed or measured. 

After looking at both the qualitative and quantitative data from each group the conclusions and role of impact each nutrient has on plant health and growth was reached. Based on the results that all the plants died without calcium. This showed the importance of calcium in the overall health and function of plants. After looking at the results of the plants without phosphorus this suggests that phosphorus is an important nutrient in the development of root systems. As for the plants without potassium we can conclude that potassium is necessary for overall plant health by having an impact on almost every aspect of the plant. When looking at the results for plants without nitrogen we see that nitrogen is an important nutrient in root structure and plant growth. Finally, after looking at the results for plants with out nitrogen it was concluded that magnesium play an important role in leave health and root structure along with an impact on chlorophyll.
Figures Below

Figures and Tables. 
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Figure 1. The control group had the highest mean of 94.08mm2 followed by plants without Potassium at 60.66mm2 and then Phosphorus at 44.50mm2 next was Magnesium at 37.61mm2 then Nitrogen at 13.18mm2 and finally Calcium at 0mm2.
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Figure 2. The control group had the highest mean of 2.41g followed by plants without Potassium at 1.66g and then Phosphorus at 1.45g next was Magnesium at 1.36g then Nitrogen at 0.75g and finally Calcium at 0.002g.
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Figure 3. The control group had the highest mean of 0.25g followed by plants without Nitrogen at 0.24g then Potassium at 0.17g and then Phosphorus at 0.16g next was Magnesium at 0.13g and finally Calcium at 0.03g.
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Figure 4. The control group had the highest mean of 2.65g followed by plants without Potassium at 1.84g and then Phosphorus at 1.61g next was Magnesium at 1.49g then Nitrogen at 0.99g and finally Calcium at 0.03g.
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